Intro/Praoduction Possibility Curve Review
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good it must produce of another. This trade-off can be graphically illustrated using a
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tdentify and briefly describe the fundamental probiem of cconomies -
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For each of the owing choices, idemify a possible opportunity cost for the choice:

d. you choose to go sec the new Jet Li movie on Friday night __\\d }'L[/\ i ] U@ [’loﬂ
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b you choose to go to business school to getan MBA after college
¢ you use the $100 your grandmother gave ﬁu for your birthday to
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The [oregone benefit when resources are used for one thing rather than another is the definition of-
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Because of the problem of scarcity, when an economy uses its resources to produce more of one type of

in the space below, draw the PPC as it appears on the board.
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What type of opportunity cost is being illustrated by the curve- increasing, decreasing, zero, or constant?
T a—

Suppose all of the nation’s industrial and textile workers went on strike and that this affected preduction

in both the consumer and capital goods industrics. Draw a new curve on your graph depicting the resuls of the
strike. Label the curve #2.
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Suppose a new technology is developed that altows agricultural production 1o triple without any

additional resources (super-fertilizer perhaps). Draw a new curve on your graph depicting the results of this
technology. Label the curve #3.
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9, Suppose new sources of oil und coal arc found throughout the LS. Draw a new curve on your graph
depicting the results of this discovery.  Label the curve i+

HO. How would you describe a production possibility ctirve that demonstrates constant opportunity cost.
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[1.  ldentify two factors that can shift production possitality curves.
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Review for Quiz #1 Name _ S

1. Use the concept of opportunity cost to explain:

a: why farmars often wait untif a rainy day to do errands in town, white a man in a new suit will
decide to forego his errands on the same day

L\j\/)&'t s ‘Uf\z r\ml. bejt a!{ema,lq,;_t ‘Hnod— LY ‘B’\Lul COQ\LQ
do”7 Famee Wl fom o0 o e da |

b. why businesspeople often buy full fare tickets while peaple planning \?agat'ions fly when
fares are lowest l

Pnf\ul g JD L‘Ct,w;\\mc bm‘b P‘Ckn‘

2. Identify one primary purpose of economic incentives:
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3. Mark an "S" at the end of the statemant if you think the item is scarce. Mark “NS” if the item is
not scarce,
A. Old economics textbooks collected in a bookcase near the teacher's desk with a sign that

ﬁ}és “Free books, take as many as you want." The books have been there for 3 years

B. Old economics books collected in the bookcase near the teacher's desk with a sign that
says “Free books, take as many as you want.” Another sign posted in the haliway says $5
paid for any recycled textbook. Bring books to the Principal’s office.

C. One economics textbook, five students who want to do well in the economics course, and
an important test in class the next day. S

D. One economics textbook, five students who are not taking aconomics, and an important
economics test the next day NS

E. Petroleum in Japan, a country without its own oil reserves or oil fields. S
F. Petroleurn in Saudi Arabia, a country with many il fields and oit reserves. S

4, True@ A good with NO opportunity cost is a free good because it is not scarce.

Aue -

5. identify one explicit cost of going to coliege and identify the opportunity cost of going to college
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6. When Joe was complaifiing about the wéight he had/lained over the sunimer. his friend remarked,
“You have no excuse, you're just lazy. Going for a run every day doesn't cost anything and you stif!
won't doit” s Joa's friend correct from an econamic standpoint? Why or why not?
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7. Because of the problem of scarcily, when an economy uses ils resources to produce more of one

type of good, it must produce luya  of another. This trade-off can be graphically illustrated using a
production possibility curve. Draw a production possibility curve below that depicts a constant

opportunity cost. Label the axis with any goods {or type of goods) you want.
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each:
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9. Answer the following questions using the PPC below:
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A. If the economy is currently ;froducing at CC', identify the new PPC if major sources of oil
s

and coal were discovered.

B. Suppose a technological breakthrough occurs that affects ONLY the
goods. Draw a new PPC that reflects this change. And label it appropriately. &C
C. Suppose an economy is operating at point X. Which of the tollowing may be occurring

(War>

{circle all that apply):

High unemployment Economy not utitizing all resourses

Natural Disaster @

10. What are the primary methods for achieving econemic growth so that a PPC is able to move

out and more of all types of goods are able to be produced?

a. A I~ ‘\rec\ano\OJ\(
"N CeLi

C.

A Jo\a Lo L;"J / edvcobion

production of capital
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